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2. Express 8" in the form 2”, stating y in terms of x.
(2)
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| 3. (i) Express
| (5-v8)(1+V2)
in the form a + bV 2, where a and b are integers.
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in the form ¢V 5, where ¢ is an integer. :
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4, Asequence u, u,,u,,.. satisfies

U, =2u, -1, nz1

Given that u, =9,

(a) find the value of u; and the value of u,, l
2

e
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(b) evaluate Zu,.
r=1
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§. The line /, has equation y = —2x + 3
The line /, is perpendicular to /, and passes through the point (5, 6).

(a) Find an equation for /, in the form ax + by + ¢ = 0, where a, b and c are integers.

(3)
The line /, crosses the x-axis at the point A and the y-axis at the point B.
(b) Find the x-coordinate of A and the y-coordinate of B,

)
Given that O is the origin,
(¢) find the area of the triangle OAB.

(2)
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Figure 1

Figure 1 shows a sketch of the curve with equationy=%, xz0
ThecurveChasequationy=%—-5, x # 0, and the line / has equation y = 4x + 2

(a) Sketch and clearly label the graphs of C and / on a single diagram.

On your diagram, show clearly the coordinates of the points where C and / cross the

coordinate axes.
(b) Write down the equations of the asymptotes of the curve C.

(¢) Find the coordinates of the points of intersection of y = % ~5and y=4x+ 2
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Question 6 continued
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Question 6 continued

-+X9  x=-7

T x=k
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Question 6 continued
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7.

Lewis played a game of space invaders. He scored points for each spaceship that he
captured.

Lewis scored 140 points for capturing his first spaceship.

He scored 160 points for capturing his second spaceship, 180 points for capturing his third
spaceship, and so on.

The number of points scored for capturing each successive spaceship formed an arithmetic
sequence,

(a) Find the number of points that Lewis scored for capturing his 20th spaceship.
(2)

(b) Find the total number of points Lewis scored for capturing his first 20 spaceships.
3)

Sian played an adventure game. She scored points for each dragon that she captured.
The number of points that Sian scored for capturing each successive dragon formed an
arithmetic sequence.

Sian captured » dragons and the total number of points that she scored for capturing
all » dragons was 8500.

Given that Sian scored 300 points for capturing her first dragon and then 700 points for
capturing her nth dragon,

(c) find the value of n.
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8. %:—x’+4;;5, x#0
Given that y =7 atx = 1, find y in t fx, givi h term in its simplest f I qoswm)
¥ x = 1, find y in terms of x, giving each term in its simplest form, © 1 08M£
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9. The equation blank
(k +3)x* + 6x + k = 5, where k is a constant,
has two distinct real solutions for x.
(a) Show that k satisfies
1 QooamMi1
k* -2k -24<0 | Q09aAl1
) 1 Qooam2
(b) Hence find the set of possible values of k. | Q09aAR2
3) 1 QoobMi
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(E)_’\Emiia-l_&nﬁmﬁg_b} ~-kaC >0 1 Qoba

T 6 - 4(ke3)k-s) DO

36 ~ a(k" -2k -15)
.ig_-_a'Hg"_-g_k_:@\

3% ~Yk'+8k +60 >0

b -4kl S0

CW- kel Sp

(h) 26 k*-2u-t% <o
k*-2L-2% =0 .

(-6 Yt )= 0
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Question 9 continued

23

I \
000 0 —
|1 09896/23 3 _



Question 9 continued
24

g

999999999

A0 0




o

Question 9 continued
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10. 4 +8x+3 = a(x+b) +c
(a) Find the values of the constants a, b and c. | Q
3) 1o
(b) On the axes on page 27, sketch the curve with equation y = 4x” + 8x + 3, showing 1 Q
clearly the coordinates of any points where the curve crosses the coordinate axes. 1
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Question 10 continued
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Question 10 continued
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Question 10 continued
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11. The curve C has equation
y=2:—8\l'x+5, x=0
(a) Find & , giving each term in its simplest form,
dx @ | 1 Qliam
. . | 1 Qltadl
ﬂwpothonChasx—ooordmateoqualtoz 1 Ql 1aAR
(b) Find the equation of the tangent to C at the point P, giving your answer in the form
y =ax+ b, where a and b are constants. 1 QI1bB
(4)
1 Qiibmi1
The tangent to C at the point Q is parallel to the line with equation 2x — 3y + 18 = 0 1 Qiibm2
_ . 1 QibA
(c) Find the coordinates of Q.
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